
(а + в) · с = а · с + в · с
(а + в) : с = а : с + в : 
с



Устный счет

( 73 + 27 ) : 10 • 6 =____

54 : 6 • 2 : 3 =____

( 7 + 5 • 7 ) : 7 + 43 =____

6  • 6 + 6 • 8 – 42 =____

(5 • 5 + 15 ) : 8 + 12 =_____

( 70 – 9 + 2 ) : 9 • 8 =_____

( 15 + 15 ) : 5 •  9 =_____

( 54 : 6 • 9 + 9 ) : 10 =____

( 72 : 8 )  • 4 + 44 =_____

6 • 2 : 3 •  9 + 71 =____

( 57 + 18 : 6 ) : 10 =_____



Работа в парах

• 1 вариант 2 вариант









Решите уравнения

у · 9 = 12 · 7 – 3 64 : Х = ( 54 - 22) : 4



Учебник стр. 20



Дочери 12 лет. Её возраст составляет     
возраста матери. Сколько лет матери?



    



Самостоятельная работа



Домашнее 
задание

•Стр. 20  № 1, 4, 7, ?


